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The hadronic tensor is proportional to (P’s are hadrons momenta)
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However the leptonic tensor is such that

GG 431 3
(=97 )Ly =16 (9898 im@m\v\@wm\%vci\éxsg — (W)
Am q
= [2 (9898 + 9696/)] 5 Q° AH + mev
K v 37 737/ 2 7/ N 12 N 712
N Y Te d31 d31 221, + (1) pl2 + (1) 7l

(g —2- 58 LGY = —32 @m&\immm\v\@wm\%éifs = N -

a7 d7

= [2 (il + obols)) S

And we have assumed no lepton cuts
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The transverse component are projected by the tensor orthogonal to P’s
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Integration on lepton cuts
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DY cross section
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Integration on lepton cuts
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DY cross section
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